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i) General Awareness

Which of the following is not a national
party of India ?

(A) Trinamool Congress

(B) NCP

(C) SP

(D) BSP

IKEA is a furniture retail company from

country, and it has opened
its first branch in India at in
August, 2018.

(A) USA, Mumbai

(B) Sweden, Bengaluru
(C) Sweden, Hyderabad
(D) Norway, Hyderabad

Who among the following won the gold
medal for India in the recently held
World Weightlifting Championship ?
(A) Sanjitha Chanu

(B) Kavitha Devi

(C) Mirabai Chanu

(D) Punam Yadav

NASA recently launched Parker probe
satellite, it will study the

(A) Sun (B) Moon
(C) Mars (D) Venus

Which of the following country does not
share boundary with Syria ?
(A) Lebanon (B) Jordan

(C) Irag (D) lIran

Consider the following statements and
select the right one

(A) Mahatma Gandhi was only once
been the President of Congress
Session.

He presided over as President in
Belagavi (Belgaum) Session in
1922

(B)

Both are correct
Both are wrong
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7.

10.

1.

Which of the following City lies on the
bank of Periyar river in Kerala ?

(A) Palakkad

(B) Mahe

(C) Kocchi

(D) Tiruvananthapuram

Who among the following freedom
fighter spread the India’s independence
movement in Paris ?

(A) Anand Mohan Singh
(B) Madam Bhikaiji Kama
(C) Madanlal Dhingra

(D) Shyam Krishna Verma

Arrange the following continents
according to their size.

(A) South America — Australia — Europe
— Antarctica

South America — Australia —
Antarctica — Europe

(B)

(C) South America — Antarctica —
Europe — Australia
(D) South America — Antarctica —

Australia — Europe

Who among the following is associated
with the Young Bengal Movement ?

(A) Annie Besant

(B) Henry Derozio
(C) Keshubchunder Sen
(D) Swami Vivekananda

PresentUnion InformationandBroadcasting
Minister is

(A) Prakash Javdekar

(B) Arun Jeitley

(C) Smrithi Irani

(D) Suresh Prabhu
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12.

13.

14.

15,

16.

The best selling book “Beyond the Line”
is written by

(A) Ramachandra Guha
(B) M. Karunanidhi

(C) Atal Bihari Vajapayee
(D) Kuldip Nayar

Bakra—Nangal dam is built across
(A) Ghagra river

(B) Bhagirathi river

(C) Gomathi river

(D) Sutlej river

Philately is a study of
(A) cryptic languages
(B) postal history

(C) old newspapers
(D) old artefacts

International World Earth Day is observed
on

(A) March 22
(C) May 22

(B) April 22
(D) June 22

Read the following statements and

choose the right one.

(A) India imports larger quantity of
Natural Gas than Crude oil.

(B) India imports larger quantity of
Crude oil than Natural Gas.

(C) India exports more petroleum
products than its imports.

(D) India’s services exports is less than
China’s services exports.

| 0D 0O 0 0

17.

18.

19.

20.

Public debt of the Central and State
Governments are managed by

(A) SEBI
(B) RBI
(C) Union Finance Ministry

(D) Controller and Auditor General of
India (CAG)

Which of the following is /are true about
Paris Agreement 2016 which is also
referred as Climate Deal ?

1. This held at 21t UNFCCC -
Conference of Parties (CoP).

2. India and China ratified thjs
agreement.

3. This came into force from 2017.

Select the right code given below :
(A) Only 1 (B) All the above
(C) Only 3 (D) 1and?2

Which of the following is/are social
infrastructure components ?

1. Investment in human capital
2. PM Matrithva VandanaYojana
3. Skill India Programme

4. Swacch Bharath Scheme

Select the code given below :
(A) None of the above

(B) All the above

(C) 2,3and4

(D) 1,3and 4

The upcoming 2019 general election to
the Loksabha will be the

(A) 15" one
(B) 16" one
(C) 17" one
(D) None of the above
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13.

14.

15.

16.
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(B) NG YThfoeh 1@ & S91€T % ad
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&3 3T T TR o HIae ST i
YEH WA SmEn g |

(A) SEBI

(B) RBI

(C) ﬁuﬁﬁw

(D) IR =1 e Ue HeTeRa BT (CAG)

T=ferfiaa § | =9-a1 9@ =W 2016

ot Setary Twgiar oft #ad €, & SR |

g’

1. I8 2191 UNFCCC — Tl & grieH
(CoP) T &3 |

2, WG 3R A T 37 F w1 gl
o |

3. € 2017 8 AT |

= feu e % & @ wd g
(A) SHad 1 (B) I @t
" (C) FEw 3 (D) 132

19.

20.

fafafaa 3 & -8 qmfees s
HTEAT o qed § ¢

1. A4 st ° fHaw

2. YEHHA WG 98 Al
3. IS qHd FRIEH

4, TS 9N ISHT

= fow e e g :

(A) I | @ g TE

(B) I gt

(C) 2,334

(D) 1,334

?ﬁmm%aﬁmﬁzmg% HW A

(A) 154
(B) 164
(C) 174
(D) 35 H @ g T8I
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2.

22.

Statement :

|. People who are bald are generally
of the intellectual type.

Il. Arunis bald.
Conclusion :

Arun is intellectual.

The conclusion drawn is
(A) True

(B) Probably true

(C) False

(D) Can't say

Statement :

Besides looks and appearances, it is
also important to develop oneself from
within. .

Courses of action :

|. One should not pay attention to
fashion.

ll. One should pay attention to
fashion.

Ill. Books on self development should
be encouraged.

Which of the following courses of action
follows ?

(A) Only Il and llI follow
(B) Only Il follows
(C) Only I and Il follow
(D) Only I follows

00000 OO O OO0 0

ii) Mental Ability and Reasoning Ability

23.

24.

Statement :

Unable to manage with the present
salary. A joined another company.

Assumptions :

|. The new company has better work
environment.

Il. The present company offers higher
pay package.

lIl. The new company offers higher
salary to all its employees.

Which of the assumptions are implicit ?
(A) All are implicit

(B) None are implicit

(C) Only Il is implicit

(D) None of these

Statement :

Should there be only one university
throughout India ?

Arguments :

I. Yes, this is the only way to bring
about uniformity in educational
standards.

Il. No, this is administratively not
feasible.

Choose the strong argument.
(A) Only argument | is strong
(B) Only argument Il is strong
(C) Either | orll is strong

(D) Neither | nor Il is strong
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(B) E¥Edl TH

(C) H
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AU A H TG 7 B I o FHHOT A A
FE S | HRTE o |

STALTIUTY :

|. 7 Ut H SEa 1 FaE § |

I, IAHM AT I== da Uehsl 1 =
e |

N, = o 3 gxft sH=nfE o 3=
I YehsT 1 TATE el 2 |

F-TfT ST AT B @ 7
(A) @t A EXelt &

(B) IS AR BIclt

(C) Shaet || AT Bt B

(D) T &I 7

hYA
TR TG § Uk B fovafarene g ey ?
Tqh ;

. &, Qexfrer gren! H TwETa @ =

Ig1 T qlien 2 |

II. T, 9% TRTEHE 9 W 6 e R ¢ |
TS eh AT |
(A) Had T | TS o
(B) e T || TTEd @
(C) =T | AT || HEd ®
(D) I || Hefe 2
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25.

26.

21

Statements :
All buses are trains.
All trains are rickshaws.
All rickshaws are cycles.
Conclusions :

I. All cycles are buses.

Il. All rickshaws are buses.
ill. All buses are rickshaws.
IV. All trains are cycles.

Choose the conclusion that follows the
statement.

(A) All follow

(B) None follows

(C) Only I and Il follow
(D) None of these

The paper below marked with numbers
1~ 6 is folded into a cube. Then which
number will lie opposite to 5 ?

B
5(1|6
3]
4]

(A) 2

(B) 3

(C) 4

(D) 6

Age of Shyam is 1/3“ that of his mother.
He is 2 years older than his sister. If the
age of his sister is 8 year. What is the
age of his mother ?

(A) 25 years
(B) 60 years
(C) 48years
(D) 30years

I O PO 00O 0

28. Find the missing number.

| 2

2 .

10

ale] [elal7] [

100[ ?

29.

30.

31.

3 4 5

(A) 8
(B) 6
(C) 12
(D) 15

A, B, C, D, E and F are members of a
club. There is one married couple in the
group. D is the only married female in
the group. A and C are two ladies. F is
brother of A and is not married. E is the
sister of F. How many female members
are there in the club ?

(A) 2
(B) 3
(C) 4
(D) 5

In a row of children, Shibu is 5" from
the left and Shinu is 6" from the right.
When they exchange position, Shibu
will be the 13" from the left. What will
be Shinu’s position from the right ?

(A) 140
(B8) 7"
) 11n
(D) 18"

If =" stands for ‘+', ‘+" stands for -~ and
‘" stands for +’ and ‘+’ stands for “x’.
Which of the following is not correct ?

(A) 30-5+4:10x5=62
(B) 30x5—4+10+5=20
(C) 30+5+4—-10x5=12
(D) 30+5-4+10x5=58
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25.

26.

21

<Y
auf) s Yemfeat ¥ |
ot Temteat faen 2 |
gt e aifra 2 |
fasd -
| asfi osfer s 2 |
I, oft =g § |
. asfi =8 R 2 |
Iv. @t temfeat anfea 2 |
T frerd g S o o STgET aRaT R |
(A) Tofi L &
(B) S &l Fwar
(C) Faet | 3R 1 a8
(D) $7H | i3 e

2 fou 8¢ %W 1 1 - 6 3R A Al
THTH A eI A fea e 1 5%
forodia =i 37 g ?

2
5/1|6

K
=

(A) 2

(B) 3

(C) 4

(D) 6

T Y TR 3T AT <l MY HT 1/3 8 | T8
ST e W 2 IY ST & | Tl 30eh! & hl
Y 8 Y 2, Iqeht Af it ST R ?

(A) 259t

(B) 60a§i

(C) 48awi

(D) 30au

28.
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T AT 1 |

[ 2

7| |9

29.

30.

31.

4
43| 8| |6
3

5
44
i 54
(A) 8
(B) 6
(C) 12
(D) 15

A,B,C,D, E3RF & a3 2 |
quE § U faaifed e @ | D avg § ovhal!
fafta a2 | At Cc QA aftemd 2 |
F, Al 9T 2 e fafRa 72 | E, F R
e 2 | Fe ¥ foraft afgen v € 7
(A) 2

(B) 3

(C) 4

(D) 5

sreal <t Uk ufe #, g and @ 5 af ot
i 3T | ST & | 59 9 370 TIH Fed il
g, g ad® 133t S ST ® | A S
ol T T8 7

(A) 1431

(B) 74t

(C) 114l

(D) 183t

A m i d o, a2 Rl
o7 379 o’ 3R - o o7 ¢ B | Fraferfaa
T PA-qT TR TE R ?

(A) 30-5+4+10x5=62

(B) 30x5-4+10+5=20

(C) 30+5+4—-10x5=12

(D) 30+5-4+10x5=258



MKG-IX/TECHPGTSM/1T/02

32.

33.

34.

35.

If all the symbols are dropped from
the following arrangement. Which of
following will be the third to the left of the
seventh letter/number from the right ?
F14KB59#DR2#7MG
%9 HVT38*1JA

(A) G (B) R
©) (D) M

o

Aruna ranks 12"in a class of 46. What
will be her rank from the last ?

(A) 33 (B) 34

(C) 35 (D) 37

If the first and third letters in the word
NECESSARY are interchanged, also
4" and 6" and 7" and 9" letters, which
of the following would be 7" |etter from
the left ?
(A) A

(C) R

B) Y
(D) E

Square, rhombus and four sided figure
can be represented by

(A)

(B)

(D)

B5R®

0000 O O

36.

37.

38.

39.

40.

A and B are sisters. C is the brother of A.
D is brother of E. E is the daughter of
B. Who is auntof D ?

(A) E
(B) C
€) A
(D) B

If the letter ‘PRABA’ is coded as 27595
and THILAK as 368451, how can
‘BHARATHYI’ be coded ?

(A) 96575368
(B) 57686535
(C) 96854368
(D) 37536689

Find the missing letters in cc — — daccc
=i a-

(A) ccdd
(B) dcdc
(C) cced
(D) cdcd

Find the missing number : 11, 101,
1001, 10001, ?

(A) 100001
(B) 1000001
(C) 11001

(D) 110011

Choose the odd one.
(A) KP
(B) MN
(C) HR
(D) GT
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32,

33.

34.

35.

Ife fefafad saeen § @ ot 9%a g
fusmided @ 74 sier / denF Ay
AT B B 7

F14KB59#DR2#7 MG
% HVT38*1JA

(A) G (B) R
(C) D (D) M

46 1 T FHE H IO H TAH 127 2 |
37 © IEHT T 2 ?

(A) 33 (B) 34
(C) 35 (D) 37

gfg 3156 ‘NECESSARY’ # Ugd 3 fiat
JTER T T 3199 | sge fen simu st
3R DS M AT o A 3 1 ot T 3799
T et fear st Fefefas § @ -
WP 7 97 & ?

(A) A (B) Y

C) R (D) E

1, FHAGHS 37N AR et arelt 3Trhfd
SR S Hedl R |

- ()
» (DO

w11=

36.

37.

38.

39.

40.
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ASMBTER |C,AFIWE R |. D, EH
TER IE,BRFAR I DR ARFAR?

(A) E
(B) C
(C) A
(D) B

Ife 3155 ‘PRABA’ & &2 27595 ® 3R
THILAK %1% 368451 &, A1 ‘BHARATHI'
1 e F1 & 7
(A) 96575368
(B) 57686535
(C) 96854368
(D) 37536689

cc —— dacce — — a H Tl &R JTed . |
(A) ccdd
(B) dcdc
(C) cccd
(D) cdcd

< G @R : 11, 101, 1001, 10001, ?
(A) 100001

(B) 1000001

(C) 11001

(D) 110011

Tt i gfiu |
(A) KP
(B) MN
(C) HR
(D) GT
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41.

42.

43.

The sum of digits of a two digit number
is 9. Also, nine times this number is
twice the number obtained by reversing
the order of the digits. The number is
(A) 27 (B) 36

(C) 18 (D) 45

A fraction becomes o if 2 is added to

e
both numerator and denominator of a

fraction. If 3 is added to both numerator
and denominator of the same fraction it

becomes % , then the fraction is
T

A —

A 3

B) %
© %

(D) none of these

Five years hence, the age of Mr. Roy
will be 3 times that of his son. 5 years
ago his age was 7 times that of his son.
Present age of his son is

(A) 9yrs.

(B) 10 yrs.

(C) 12yrs.

(D) none of these

The radii of 2 circles are 8 cm and
6 cm respectively. Find the radius of the
circle having area equal to the sum of
the areas of the two circles.

(A) 14cm (B) 10cm
(C) 12cm (D) 100 cm

-12-
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iii) Numerical Aptitude and Data Interpretation

45.

46.

47.

48.

49.

The wheels of a car are of diameter
80 cm each. How many complete
revolutions does each wheel make in
10 minutes when the car is travelling at
a speed of 66 km per hour ?

(A) 4,375 (B) 5,000

(C) 4,000 (D) 4,800

Ha:b=2:4b:c=3:5c:d=12: 10
thenthe ratioa: dis

(A) 9:23

(B) 9:25

(C) 2:10

(D) none of these

If 8 diesel engines consume 12,000
litres of oil when each is running
10 hours per day, how much oil is
required for 7 engines 5 of which are
running 12 hours a day and the rest
6 hours a day ?

(A) 10,500 lts.

(B) 10,000 lts.

(C) 9,000 lts.

(D) none of these

A train running at the rate of 40 kmph
passes a man riding a scooter on
the road parallel to the railway line at
25 kmph in 48 seconds. Find the length
of the train.

(A) 100 m
(C) 200 m

(B) 300m
(D) 250 m

Two numbers are in the ratio 3 : 5. If
8 is added to each number, the ratio
becomes 2 : 3. The numbers are

(A) 24 and 40 (B) 30 and 50
(C) 20and 30 (D) 15and 25



RO 0 0 0 OO0 0
i) S e s s

41.

42.

43.

44,

a1 3ol < TEAT o 37l 1 AT 9 7 | A1
B 38 T T A O 3FhT I e &
TE YT AT 61 ST & | T

(A) 27 (B) 36
(C) 18 (D) 45
U 191 o 3797 3TN ELHI | 2 Sied W a8

fﬁn%s‘raﬁ’r% | f 3t st 3 i i

T AMI A 3G AU A e Jg A R, A

=2

™ <

B) 5
© %
(D) ¥4 8 =IE T

uie Y a1e ot T 319 o hil A & A
O BT ST | 5 9 g 3R AT S ol 3T
& 7 7om ot | 5 A g R

(A) 9o

(B) 1098

(C) 12a%

(D) T I &

2 g =1 BTl e 8 cm 36 em R |
34 g <l Bsa1 g1a it formen sawa
T ST A o &Il o AT | SR I |
(A) 14cm (B) 10cm

(C) 12cm (D) 100 cm
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45.

46.

47.
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Ueh I o Ufed] o1 48 80 cm Ui © |
s SR 66 km Wi =2 < Tid ¥ =5 ©@1 R,
A e ufed 10 e § b et ek 7
(A) 4,375 (B) 5,000

(C) 4,000 (D) 4,800

afda:b=2:4,b:c=3:5,c:d=12:10
?ﬁa:dWCﬂﬁqﬁ%

(A) 9:23

(B) 9:25

(€ 2:10

(D) T8 @ I3 L

Ife 8 ENd 59 10 w2 ufd fo =em
T 12,000 X 9« I @I HFd ®, ql
7 351 & fou foraa 9o Y sTereaeRar @

gl ¥ 5, 12 92 yfq fea it sk

48.

49.

e A= ®E ?
(A) 10,500 wfiex

(B) 10,000 =fleX

(C) 9,000 &tex

(D) T &S TE

40 km ¥fd 521 31 3 sl g8 T el
19 A % Y9HEG 9% W 25 km 9fd
21 Th A S @ AfH 48 Y T IR
F A & | T S J1d |

(A) 100 m (B) 300 m

(C) 200 m (D) 250 m

3 ST 3 : 5% A § ® | Ifa TP
1 1 8 Siig fean shar 2, a1 U 2 : 3
REGIEERR

(A) 24340  (B) 30 3R 50

(C) 20330 (D) 15325
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50.

S1.

52.

53.

54.

85.

A student has an amount of Rs. 7,000,
in the denominations of Rs. 500 and
Rs. 100. How many Rs. 500 notes does
he have, if he has a total of 22 notes ?
(A) 10 (B) 11
(C) 12 (D) 16

If the amounts of two consecutive
years on a sum of money calculated on
compound interest basis are in the ratio
20 : 21, then the rate of interest is

(A) 10% (B) 12%

(C) 5% (D) 7.5%

In a hostel of 80 students, the total
monthly expenses were increased by
Rs. 8,000, when 20 more join the hostel.
If the average monthly expenses there-
by reduced by Rs. 40 per head, find the
average monthly expenses per student.
(A) Rs. 500 (B) Rs. 600

(C) Rs. 400 (D) None of these

Mr. Jain goes to market to buy a fruit. If he
can bargain and reduce the price of adozen
of the fruit by Rs. 3 he can buy 3 dozens
of that fruit instead of 2 dozens. How much
did Jain pay to buy 3 dozens ?

(A) Rs.6 (B) Rs. 12

(C) Rs. 18 (D) Rs.24

, o
If x-}éll :y}{’ =2’° and xyz = 1 then

a+b+c=
(A) 3
(C) 1

B) 2
(D) O

In a class of 30 students, 15 students
have taken Computer Science and
10 students have taken Computer
Science but not Electronics. Find the
number of students who have taken
Electronics but not Computer Science.
(A) 15 (B) 20

(C) 10 (D) none of these
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56.

o7.

58.

59.

60.

If 2 men and 3 boys can earn Rs. 252
in 7 days and 4 men with 7 boys can
earn Rs. 624 in 8 days. In what time
6 men with 8 boys earn Rs. 1,020 ?

(A) 9days
(B) 12 days
(C) 10days

)

(D) none of these

If 2%%*5 = (v/2)**2 then x =
(A) © B®) 8

c % o 7%

If a certain sum of money is doubled
in 8 years at a given simple interest. In
how many years will it be four times ?

(A) 24 years
(B) 32years
(C) 20years
(D) none of these

If the interest on Rs. 800 be more than
the interest on Rs. 400 by Rs. 40 in
2 years. Find the rate of simple interest.

(A) 5% (B) 6%
(C) 10% (D) 8%

A man buys an article at % of its cost
value and sells it for 20% more than its
cost value. What is the profit percentage ?

(A) 50%
(B) 70%
(C) 60%
(D) none of these
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50.

51,

52.

53.

54,

9.

e femeff e U 5. 500 3R E. 1005 A H
%. 7,000 F TR | 3 3G € HA A1
22 &, Tl 3 T &. sooésﬁrcﬁgé?
(A) 10
(C) 12

g T TR W Tehfg a1 o IR |
TIUTHT Sh1 778 21 ShiHek a1 ol WY1 20 : 217
I &, 1 S R

(A) 10% (B) 12%

(C) 5% (D) 7.5%

80 o=t &% awfoe 4@ 5= 20 3Ifes
S S ®, O 3t A1 @4 ®. 8,000 ¥
o Sl @ | gfe gafere mites @« afq wfid
. 40 SRS SITAT 7, o 9id faremeff sfea
HITEe @ 914 il |

(A) %.500 (B) %.600

(C) ¥.400 (D) 9 & IS e

oft S U el @ited & o IR S # |
I3 AAIE Hh o Th g9 Bl ol Hod
T 3THFI A HIEA 2 ToH ohl a5
3 25 % @He UTd 8, a1 3 5 & fou 3=l
foherT Toe e 7
(A) %.6

(C) %.18

(B) 11
(D) 16

(B) %. 12
(D) %.24

af x2=yb =72 s xyz = 1 A
a+b+c=

A) 3 (B) 2

(C) 1 (D) ©

4 He wgd forn & S 10 feremfef
1 FHR AEE for § Wy seaeih
T | 34 ferenfela o) e e = e
FoagI A ol & T HRIe 9iRd e |
(A) 15 (B) 20

(C) 10 (D) T & s &l
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60.
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. Afe 2 et M 3 @k 7 feAi | %, 252

FT Tahd & 3 4 el 3R 7 T 8
a1 9 %. 624 1 Herd &, 1 fobae Tmg
6 371eH 37 8 &g %, 1,020 FHAT ?
(A) 9fem

B) 12fA

() 10fs

(D) T H g e
aﬁ24x+5:(\/§)x+2—(ﬁx:

(A) 0 ® 8

© % © %

7 TS TR 8 FNT H HILTUT ST W AT &1

SR | r2re b =i 8 = o e ?
(A) 2439

(B) 32aui

(C) 20 a8

(D) T | IS T

Ife 2 a9 § %, 400 TSI 5. 800 T TS

T F. 40 37fereh B, 1 ATETO1 SIS <) X FTd
Sifsta |

(A) 5% (B) 6%

(C) 10% (D) 8%

Teh el T 1] 36 % el § 3 W
wliaa & 3R 36 5 Ood © 20% 3o
QST &, T T faerd #1 e ?

(A) 50%

(B) 70%

(C) 60%

(D) ¥ & =i T
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61.

62.

63.

64.

65.

66.

67.

68.
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iv) Hindi Language and Comprehension

&=t wren sk Ay
H w153 1 qEiETE yee R ? 69. MR = fosam 2
(A) FT (B) fasm (A) ﬁ@.ﬁm

" (©) fm D) (B) Tarfedi =t wrcraran
-y (C) Tore-Fe=mm
(A) T (B) fsm ‘ .
©) fivg D) wRa 70. %ﬁamqaxrqéﬁ g AT T T
|
STk 3153 1 A T 2 (A) ST (B) HM el
(A) =F (B) == (C) wisrq®et (D) <13l
(C) =R () = 71, ‘AT vreE 1 g TR
e o e o 8 e e 7 PO L S
) o (C) =iEs (D) =’
(B) gEHeTT 72. AT YR S SgAEH B
(C) gfest | (A SE (B) AT
(D) effemT sk gfewi At (C) SaTd (D)
3T + B HT U T8 73. g2 oHAT 346 HETal o 379 B
(A) TT=F (B) a==d (A) ERATT
(B) SR FEAT
(C) ea (D) T4 6] e
T: + FRF G TR (D) feowm
o B i 74, FHABRET TR TN TR TR A 7
(C) T (D)‘WR e ®) ab
‘areft’ wrse = Sfifem w9 2 (GI S () fe
(A) W@l (B) TR 75. ‘SERM A Fo i 7 an gE A i
(C) wifeH (D) et LEEIt
‘ot =51 Tt srebrtlea ify fom Wzgi
(A) T+ 37 (B) a1+ 3t ®)
< (C) UM

(C) A+ (D) 3+
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‘o ot d. FupEf 4. TRIHa
a. M HE 1. STELEMAT a b ¢ d
TRTE 2, g ST B A 2 3 4 1
c. THWUE 3. frefirgrt am
b B 2 3 1 4
d. &ET AT 4. S | ST ge € 2 4 3 1
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B2 3 1 4 80. e ferfiae
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)2 3 4 1 a. IFRE Y 1. A
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v) English Lapguage and Comprehension

FTIST W SR A

Fill in the blanks with suitable article. Use correct verb from the options.

81. Revenge is main theme of | 86. Either Ram or his friends
this play. football.
(A) a (A) play
(B) an (B) plays
(C) the (C) has played
(D) not needed (D) none of the above
82. bird in the hand is worth | 87. When the ship arrived in the port, the
two in the bush. crew taken into custody.
(A) A (A) was
(B) An (B) is
(C) The (C) were
(D) Not needed (D) are

Use correct preposition to fill in the blanks. 88. The wages of sin death.
A) are
83. Be mindful your promise to )
He (B) were
(A) with (C) is
(B) at (D) was
(C) for Fill in the blanks with proper verb from the
(D) of options.
84. | am not conversant Greek. 89. An ancient statue there half
(A) to buried in the sand.
(B) with (A) lay
(C) for (B) lie
(D) from (C) lied
(D) laid
85. The business of the Judge is distinct
that of the jury. 90. He was clean
(A) at (A) Shaved
(B) for (B) Shave
(C) by (C) Shaven
(D) from (D) None of the above

-18-
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91.
(A)

(B)
(©)
(D)

Select the
wrong.

92. (A)

(B)
(C)

(D)

93. (A)

(B)
(©)

(D)

94. (A)
(B)

(©)

(D)

The tree was

RO RO 0

-

with fruits.
laiden

laden

loaded

laid

sentence which is grammatically

Someone has picked my pocket.

He asked me to take off my
trouser.

He bet and lost a lot of money at
the races.

He was badly wounded and bleed
profusely.

Many a fool think he can have rights
without responsibilities.

Scientists are trying to probe the
outermost reaches of space.

It is a matter of the utmost
importance.

Let us walk a little farther.

He is the elder of the two brothers.
He is elder than his sister.

| gave him the few spare clothes |
had.

| have a few friends in the United
States.

Use correct question tag for the following.

95. They provide free medical facility

(A)
(B)
(C)
(D)

aren’t they ?
do they ?
don't they ?
doesn'’t they ?

96.

MKG-IXTECHPGTSM/1T/02

He spoke totheboys __
(A) doesn’the ?

(B) didn'the ?

(C) did he ?

(D) does he ?

Change the following sentences to imperative
sentence.

7.

98.

‘Will you stop talking ?’

(A) Can you stop talking

(B) Please stop talky will you ?
(C) Stop talking

(D) Would you please stop talky ?

‘Will you tell him to come here ?’
(A) Will you please tell him to come
here

(B)

Would you please tell him to come
here

(C)
(D)

Can you tell him to come here
Tell him to come here

Select the wrongly spelt word.

99

100.

Persistance
Tepid
Appetiser

(A)
(B)
(C)

(D) Fawn

(A) Cosmepolitan
(B)
(©)

(D)

Eschewed
Hypotheses
Allegiance
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101.

102.

103.

104.

105.

106.

SECTION - B
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T -9
Post Specific Subject-Related Questions

e WikThe fava-aaeft T

oo 7 Jiifor g I a4 wemia
Eril
(A) THR (B) THK

(C) I&a (D) fafaeq

=07 %519 q9d FIEE T SHR
el |

(A) T=TE (B) fafg

(C) wufed (D) TEd

o7 A1 91 et 9a 1 7: T

Eﬂﬁq: |

(A) AT (B) Wit

(C) 91 (D) TS

$5! Aaisaas TS S 9 gfgon
|

(A) RETE: (B) THSE:

(C) HicaTE: (D) TE:

#fiee A it aefigfas:

el gaR |

(A) I (B) I

(C) Hufeq (D) 3

I e AT R |

(A) dTgdTETH (B) HEaTETH

(C) efefame™ (D) ®¥alET™

107.

108.

109.

110.

111.

112.
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A 3 HaERT g 59w
éa?ﬂ IGFTcﬁ@E: |

(A) I (B) Im:

(C) 3fH: (D) @feran

gouy Al dE: _ HEEIssHrtag
Tguaag |

(A) = (B) forsur:

(C) @faar (D) 3AfH:

fol 9! gEeE guTd 33 T Hal
«: |

(A) Tafeafy: (B) |

(C) vadrh: (D) aT:

i faasa = o= i

IrEEshd |

(A) & (B) w=H1

(C) wed (D) <&

TEYRNld SISvEe g TR R |
2qdr |

(A) TE§ (B) wemafe

(C) %al (D) 3f|:

o<l FEesT sy sRgh: |

(A) |l (B) &

(C) z#: (D) 9IEH
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113.

114.

115,

116.

i 7

118.

119.

120.

L

o A W YR S |

(A) e (B) B
(C) & (D) =&
IFHIS <dl: |
(A) TTHA (B) T=:
(C) IFH (D) e
TreeTdEl weEtd, qeEt g Tt
i Gl
(A) 3TTRT (B) yfu:
(C) =1 (D) el
9 T gUd Wg ISl Gl |
(A) Wg (B) o
(C) 3T (D) i

| 1 | a1 | e | st gfe:
I

(A) =W (B) 3R

(C) (D) AT
TUTT: | § AR |

(A) THTE: (B) famm:

(C) fEvea: (D) TETeT;
TR wafd |

(A) RO (B) =

(C) & (D) T

Toref T |

(A) uTg (B) WE

(C) fervrht: (D) g

121,

122.

123.

124.

125.

126.

127.
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Th: I6¢; _ gEE: @l Al o
FHIard |

(A) fosra: (B) I

(C) I (D) 37gwh:

Ted gl W6 7 gga

() fomi (B) ferem

(C) ¥ (D) =

I CAHRONTHY ~FIaETeH

3 |
(A) ffa:
(C) &af:

(B) Sffa:
(D) wrsg:

THTRTIAY J9EY Heg 9 | HUTT
$ifd T gyweatmay |

(A) hfd (B) =¥
(C) wf® (D) aTeEed
EiED] S99 |

(A) fouwiicass  (B) Hereweh
(O EARED (D) @TeHeh

37} T gt e e |

(A) TEag (B) €3y

(C) gFa™ (D) vy
EECIRIR RS I %oq foparg = |
(A) = (B) ¥4

(C) T (D) =d
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128.

129.

130.

131.

132.

133.

134.

hferg “eRHIIT " gfd wegaEl= | | 135.

(A) o (8) Fgor:

(C) e (D) w=:
wrrfarfivie qar segeaarteT | ;

(A) | (B) IuHT 136.

(C) e (D) feram

HIIT T TSR siter |

(A) U™ (B) IedEm

(C) 3=l (D) &9k 137.

e STe S gt 72| WWamt

Teate: e | |

(A) TrfivE: (B) ferdvma:

(C) Tava: (D) TEHE: 138.

Fam: 3t ey |

(A) AdY (B) =9

(C) odl (D) 53¢

wEREAERg: fgsd il

(A) &= B8) ffa:

(C) =&om (D) =I=sTeh!

g 7 yfa qfa 9 3fa o

9| dgraTe, favmae: aieser 7 forr|

(A) 74 (B) dd

(C) T (D) =

A 0000 0RO 0
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(A) ®UH (B) I

(C) ArH (D) AT
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(A) & (B) I
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TG I T TFToreAsTHey | gpefiera:
Wepe feet | |

(A) T (B) ITH:

(C) FHUITH: (D) GfeRs:
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141.

142.

143.

144,

145.

146.

 fydrceBEahifdnuea: g

TR TEET Hersaq: |

(A) TH: (B) im:

(C) 7 (D) HIhiceh:

Yalduithed ST gl W s |
i

(A) T (B) T=TH:

(C) gus: (D) FUS:

ESiC| HIIYT T AT

picct(

(A) TSy (B) Hery

(C) Tr= (D) feasre

fer o o Sofiyer qawe

faymsyad |

(A) THY (B) Tl

(C) %™ (D) Hieha:

THE LT dd: T ... | 3T B AW

I

(A) FHoI: (B) i

(C) d«: (D) <hm:

@ TreERd ST S
Tehtegfient: |

(A) T8t (B) <l

(C) wd (D) we:
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150.

151.
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_ UqRvrEE HE: HEbdledd
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(A) T (B) U

(C) TESA (D) T

Frefl afeafee gauifafada
GRS

(A) FT (B) SRl

(C) T (D) ®<:

g 7 o foaanf<es fewoma

Y T |

(A) & B) freh

(C) T (D) i
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Q| JAF E@: 4H |
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(C) M (D) &m:
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(A) T (B) a1

(C) Hiehvd™ (D) &
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153.

154.

1595.

156.

187.

158.
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(A) 9%: (B) Ht:
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(C) ward (D) W,
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(A) FEien
(C) Tmfor

(B) FgHTH
(D) et

00000 O
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Toyd 39 e Wardt Aty | 3w g
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Y A aEE |
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(B) T
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Which of these approaches is multi-
cultural in its approach, with activities
centered around events from various
cultures ?

(A) Inter-group education approach
(B) Additive épproach

(©)

(D)

Contributions approach

Cultural approach

Acquiring basic skills in comprehending,
speaking, reading and writing the
language is known as

(A) Literacy development
(B) Literary development
(C) Language development
(D) Both (B) and (C).

Which of these prevent the cultivation
of the art of narration ?

(A
B

) Observing skilful narrators
) Using proper gestures
(C) Breaks in logical sequence
(D) Using similes

Questions that are asked at the
beginning of a lesson are known as

(A) Introductory
(B) Developmental
(C) Testing

(D) Recapitulatory

00 OO OO0 OO0l
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289.

Which of these questions should be
put at the end of the lessons and helps
the teacher know if the students have
picked up what they were supposed to
learn ?

(A) Evaluation questions
(B) Testing questions

(C) Recapitulatory questions
(D) Development questions

Knowledge based questions are considered
at which level of questioning ?

(A) Higher order
(B) Middle order
(C) Lower order

)

(D) Intermediate order

Higher order questions are related to
which of the following ?

(A) Recall

(B) Recognition
(C) Interpretation
(D) Evaluation

A blog provides information on the World
Wide Web and when limited content can

~only be sent at a time, it is known as

(A) Group blog
(C) Micro blog

(B) Individual blog
(D) Mega blog

An electronic version of a printed book
is also known as

(A) E-blog
(C) V-blog

(B) E-book
(D) Blog
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When a student is taught to use the
language as a medium of thinking, it is
known as development.

(A) Functional (B) Language
(C) Learner (D) Literacy

Which of these is the core of the
educational process ?

(A) Development
(B) Practice
(C) Learning
(D) Thinking

Learning which involves differentiating

between stimuli and showing appropriate

response to these stimuli is called
learning.

(A) Verbal learning

(B) Discrimination learning
(C) Cognitipn learning
(D) Motor learning

Visual learning through images, auditory
learning through listening and kinetic
learning through physical activities are
concerned with learning.

(A) Sensory
(B) Cognition
(C) Verbal

(D) Multifactorial

Explicit attention is a part of which type
of attention ?

(A) Involuntary attention
(B) Implicit attention

(C) Volitional attention
(D) Spantaneous attention
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299.

300.

Olfactory sensation is related to which
type of stimulus ?

(A) Visual
(C) Taste

(B) Odor
(D) Auditory

A meaningful interpretation of received
stimuli through sensation is called

(B) Motivation
(D) Learning

(A) Perception
(C) Behaviour

A sense experienced in the absence of
a stimulus is known as

(A) Hallucination (B) Illusion

(C) Perspective (D) Delusion

Immediate memory that helps an
individual recall something immediately
after it is perceived is known as which
type of memory ?
(A) Experiential
(C) Short-term

(B) Lorig—term
(D) Sensory

What is the drive that inspires to move
towards one’s goal ?

(B) Motivation
(D) Beliefs

(A) Learning
(C) Practice

A focused careful analysis of something
is known as

(A) Creative thinking
(B) Collaborative thinking
(C) Critical thinking
(D) Constructive thinking
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